ASS. REC. BY: Marcus REF: CS/MSG	22008119/4043		
AS	SIGNMENT		
From: Date:	Veh No: SMU 1878M Yr Regn: 09/11/17		
Estimated Cost:	Type M.Car / M.Cycle / Bus / Van / Lorry / Taxi / Prime Mover /		
OD TP / WS / TP RES / OD RES / EVA / INV / MV	Truck / Trailer or (A) 15 momentum		
To Inspect Vehicle No: SM UISTSM	Make: NOLVO XC60 c.c 1969		
at Workshop m/s A (M	Make: NOLVO XC60 c.c 1969 Colour 3hop noun / S/40/A/C: Insured / Std / NI / NA		
of	Sp.Reading T/Radio: Insured / Std / NI / NA		
Insured: $SLP9079M$	Eng/No:		
Policy No. 1001423842	C/No: 0 YV1UZIOACJ 1009616		
Claims No. 282974	Gen. Cond Good / Fair / Poor / Burnt		
Sum Insured: Excess:	Steering: Inorder / Jammed / Leaked / Burnt or		
(Client's Record)	Brake: Inorder / Jammed / Leaked / Burnt or		
Make of Veh:	Modi: Nil / S/Rim / STD A/Rim or		
	Tyre Size: F:		
(Policy Condition)	R: 205/60218		
Remark: The veh had commenced its N/S O/S repair at the time of inspection.	BS / DUN / EXNOVA / GY / FS / LIZA / MIC / OHTSU / PIR / SUMI /		
Bal. or Market Value: 6 130k.	Front Rear		
IDAC Accident Rport: Consistent? : Yes or No	R/Bal. R/Bal. mm		
GIA / PR Seen: Consistent?: Yes or No	L/Bal. 7 mm L/Bal. 7 mm		
Est. Repairs: 3 days Res.: Yes or No	D.O.A. 21/08/22 D.O.I. 29/28/22		
Lum Sum: 20 % 3 Val.: Yes or No	Survey held at		
CA / REV / REP. / 24 HRS Vehicle: IN / OUT	Des. of Damages: Frt / Rear / O/S / N/S / U/C / Rooftop or		
Date: Person Contacted: L7A & L868			
Date / Time Action / Instruction Dep 211K.			
5/8/22 4/5 \$2900 in homed ken	(red 26,737.42, 90%)		
Date/Time, File Pass to? : Preli. Report	Days Of Repair: 3		
1) : Final Report Date/Time, File Return to?	Resurvey No. of Trip: 1 Survey Fee:		
2) 15/9/22-typist Add Fe	Transportation: e: : Site Insp (\$)s+Rs,si		
-,	: Interview (\$) Photos		
Report Format : Merimen	: Tech. Invs (\$) Others		
Lump Sum / I.B.I. : (\$ 2900	: Weekend (\$		
	TOTAL		

> Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars	-G
Owner ID Type:	Singapore NRIC
Owner ID: Vehicle Details	428Z
Vehicle No.:	SMU1878M
Vehicle to be Exported:	No
Intended Deregistration Date:	24 Aug 2022
Vehicle Make:	VOLVO
Vehicle Model:	XC60 T5 MOMENTUM
Primary Colour:	Blue
Manufacturing Year:	2017
Engine No.:	B4204T232170513
Chassis No.:	YV1UZ10ACJ1009656
Maximum Power Output:	187.0 kW (250 bhp)
Open Market Value:	\$38,070.00
Original Registration Date:	09 Nov 2017
First Registration Date:	09 Nov 2017
Transfer Count:	1
Actual ARF Paid: Intended PARF Rebate Details	\$45,298.00 22649
PARF Eligibility:	Yes
PARF Eligibility Expiry Date:	08 Nov 2027
PARF Rebate Amount: Intended COE Rebate Details	\$33,973.00
COE Expiry Date:	08 Nov 2027
COE Category:	B - Car above 1600cc or 97kW (130bhp)
COE Period(Years):	10
QP Paid:	\$49,189.00
COE Rebate Amount:	\$25,616.00
Total Rebate Amount:	\$59,589.00

The information contained herein is correct as at 24 Aug 2022

OK

sgcarmart

Sign up Login

New Cars

Used Cars

Rental Cars

Sell My Car

Directory

Products

Insurance

Articles

Forum

Resources



BUY A CAR PROTECTED WITH SGCARMART USED CAR WARRANTY

(g) Pay \$0 for Repairs (2) Comprehensive Vehicle Inspection



Post an Advertisement Sell it yourself! Advertise it at just

\$68 until it's SOLD!

Advertiser Login Ways of Selling Estima 2.4A, 100% Loan by GV CARS FINANCING

Secured Loan by In house finance, Warranty packages and services available

GV Automobile Centre StarAd



Sort by Date Posted > 20 > results/page

4 vehicles

Post an Ad

Volvo XC60

Model

Price

Depreciation

Reg Date

Eng Cap

Any Category

Advanced Search

Search Status

Search Selection

Volvo XC60

Make

Any

Any

2017

Any

Any

Mileage

Veh Type

Available

\$142,888

\$22,830 /yr

29-Nov-2017

1,969 cc

82,571 km

SUV

Available

Volvo XC60 T5 Momentum

1 Owner Only! High ARF \$45,298! Fully Agent Maintained! Cargo Space Is Generous! Powerful And Responsive! Well Kept Interior And E...

Posted: 20-Aug-2022



Volvo XC60 T6 R-Design Panoramic Roof

\$162,800

\$25,120 /vr

18-Dec-2017

1.969 cc

70.070 km

SUV

Available

T6 Polestar tuned to 333bhp and 450nm. The XC60 R-Design scores well in almost every aspect and is packed to the brim with safety fe...

Wearnes Pre-Owned

Posted: 20-Aug-2022



Volvo XC60 T6 R-Design **Panoramic Roof**

\$157,388

\$23,980 /yr

1,969 cc

72,000 km

SUV

Available

1 owner. Full spec XC60 T6 with polestar engineering! Fully service history with Wearnes. Superb fuel consumption at 5.9l/100km! Imm...

Car Vault Pte Ltd

Posted: 16-Aug-2022



Volvo XC60 T6 R-Design

\$159.800

\$24,510 /vr

22-Dec-2017

1,969 cc

92,000 km

SUV

Available

Panoramic Roof 1 careful owner with full service record since day 1 at Wearnes, low mileage done and lowest interest rate. High trade in, hurry call now!

Hua Yang Credit Pte Ltd

Posted: 13-Aug-2022

Save this search criteria, to get email alerts whenever a match is found.

Make

Model

Price

Depreciation

Reg Date

Eng Cap

Mileage

Veh Type

For old advertisements, view Expired ads

20 v results/page

Buy / Rent Cars

New Cars For Sale

Used Cars For Sale

Cars For Rent Sell Your Car

Post an Adpare

nttps://www.sgcarmart.com/used_cars/listing.php?RGD=2017&MOD=Volvo XC60&RPG=20&VEH=...



Co. & G.S.T. Reg no. 201605297G Workshop: 23 Kaki Bukit Ave 4 #04-01 (South Wing) Singapore 415933 Email: automim.claim@gmail.com Tel: 9119 8371

Website: www.aimgarage.com.sg

29/08/22 29/08/22 2/542900/ 3 days.

Our Ref.: AC2022059/TP

Vehicle number: **SMU1878M**

Vehicle Made & Model: VOLVO XC60

	Qty	<u>List Items</u>	Amount \$
1	1	REAR BUMPER (TOP) CM7/7011 2201	2,856.90
2	1	REAR BUMPER TOWING COVER 1	54.20 X
3	1	REAR BUMPER (LOWER)	1645.20 🗶
4	2	REAR BUMPER REFLECTOR @ 198.70	387.40 X
5	4	REAR BUMPER SENSOR @225.90	903.60 🔨
6	4	REAR BUMPER SENSOR HOLDER @42.30	169.20
7	1	REAR BUMPER REVERSE SENSOR WIRE HARNESS	415.80 🗶
8	2	REAR BUMPER EXHAUST CHROME PIPE @ 385	770.00 🗶
9	2	REAR BUMPER EXHAUST CHROME PIPE BRACKET @ 98.70	197.40 🗶
10	1	REAR BUMPER REINFORCEMENT	1254.90 🗶
11	2	REAR BUMPER SIDE RETAINER @ 125.60	251.20
12	1	REAR BUMPER INNER CENTER GARNISH 1	145.80
13	1	REAR BUMPER UPPER CENTER GARNISH	303.60 🗴
14	2	TAIL LAMP @ 1025.80	2051.60
15	2,	TAIL LAMP LOWER BRAKET @ 98.70	197.40 🗶
16	1	TAILGATE	3458.90 X
17	1	TAILGATE OUTER GARNISH ^ ^	897.50 🗶
18	1	TAILGATE EMBLEM 'XC60'	132.00 🗶
19	1	TAILGATE EMBLEM 'T5'	125.80 🗶
20	1	TAILGATE EMBLEM 'VOLVO'	145.80 🙏
21	1	TAILGATE INNER LOCK	485.20 🗶
22	1	TAILGATE LOCK CATCH \checkmark	45.20 🗶
23	1	TAILGATE WEATHER STRIP	245.60 🗶
24	4	TAILGATE STOPPER @ 30.80	123.20 🗶
25	1	TAILGATE INNER TRIM (LOWER)	698.50 x
26	1	REAR END PANEL ^ ~	2908.40 🚶
27	1	REAR END PANEL TOP GARNISH ^ 1	482.30 🗶
28	1	REAR FLOOR PANEL TOP BOARD	1977.80 🟃
29	1	REAR FENDER	1,987.60
30	1	RIM ols	1,245.80 800 S/N
		TOTAL PRICE	26,563.80
		LESS 10% _	2,656.38
		SUB TOTAL PRICE	23,907.42

Vehicle number: SMU1878M

Vehicle Made & Model: VOLVO XC60

Special Nett Items

1	REAR NUMBER PLATE WITH COVER	11			80.00 🗡
1	REAR BUMPER CLIP (SET)	ne			50.00
1	REAR BUMPER INNER CENTER GARNIS			*,	50.00 📈
1	REAR BUMPER UPPER CENTER GARNIS	H CLIP (SET)			50.00 ≪
2	TAIL LAMP CLIP (SET)	11			100.00 🗶
2	REAR FENDER INNER COWLING CLIP (S	ET)			100.00 🗸
1	TAILGATE WINDSCREEN SEALANT	NA			80.00 🗙
1	REAR END PANEL SEALANT	^^			200.00 🗶
			TOTAL		710.00

Labour charges

TO PANEL BEAT, REMOVE AND REPLACE PARTS		1800.00 400
TO SPRAY PAINT AFFECTED AREA		1800.00 400
TUFF COAT	11	200.00 ×
WIRING AND BULB CHECK ON TAILAMP	1-	120.00 X
REMOVE AND REFIX CUSHION SEAT/UPHOLSTRY TO FACILIATE REPAIR	11	150.00 X
REMOVE AND REFIX REVERSE SENSOR AND DISTANCE SETTING		180.00 570
TRANSFER TAILGATE MECHANISM	11	150.00 火
CONDUCT WATER LEAKAGE TEST	11	120.00 X
REMOVE AND RESET TAILGATE AUTO SYSTEM	11	350.00 X
REMOVE AND REFIX TAIL GATE WINDSCREEN	12	150.00 X
TOTAL	5.0	020.00

ESTIMATE PARTS AND LABOUR GRAND TOTAL \$

Page 2 of 2

29,637.42

P-2201

To resurvey before/after spray painting
To display damaged part(s), "rring resurvey
Parts prices are subject to confirmation
Third party survey is on a "Without Prejudice" basis
No illegal modification(s) is allowed
Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer
Signature:

7-198090 5.N-REO 1-810 368090 2944